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then A, B, C are mutually exclusive and A BC

E= AVB, F= BUC,
EUF= AVBUC

check! E F

-> (n) =P(A)
+P(B) +P(c)

Rus =(P(A) +P/B) +(B) +P(c)
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Disprove their claim.

-Experiment:choose a home atrandom, with in probability".

IEP P(EUF) =P(E) +P(E)
- P(EnE)

=0,97 +0.96
- 0.94

=1,027baxomI
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More generally: E

P(EufuG] =P(z) +P(F) +P(G) =
- P(ZnF) - P(Ent) - P(=nG)

+ P(Enfn4), etc
G
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Iexperiment: return N exams to a student.
Shall ways to return examis, 18=N!

· Complement:E:= "at leastone student gets own exam"

E=Ei, whereE," student; gets own exam"
=1

Use IEP:
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lafter student i get their own)
(2) P(Ei) =E-!Heways

be return abeane

ISI

(2) P(EinEs) =P(both students isget their own exams

Iwas to return N-2 exams

(aftersted
inget thereare

·- IEP-

P(z) =Not-emit):-...+(-)()(e
-: -)!

=

1 - 2 +-...
+(-)

=>P(EY =1 -PE) =1 -51+..+- 0.3.
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